
                                          

Sumatra Storage Combo Bed Completely Full / Queen & Calking / King Size 

Assembly Instructions 
Pre-Assembly: 

• Please read all instructions carefully before beginning assembly. 

• For your safety and convenience, assembly by four people is required. 

• Remove all parts and hardware from packaging and identify by comparing to lists below. Do not discard any contents until assembly is complete to 

avoid accidentally discarding any parts or hardware. 

• The Sumatra Storage Headboard is designed for use with the Sumatra Storage Combo Bed. 

. 

Parts Enclosed:    

• (1) Sumatra Storage Headboard (C) 

 

Needed for Assembly: 

• (1) Sumatra Storage Bed (A) 

• (1) Sumatra Storage Bed (B) 

 

  Assembly Instructions: 

1. Release the drawers near the open frames of the storages from the case by vigorously pulling the drawer straight-out. 

2. Release the feet near the open frame of the storages (A & B), by releasing the Allen bolts (M6 x 50) at the feet as shown in fig 1, illustration 1. 

3. Release the metal bracket underneath the storages top, that is near the open frames with the Allen Key (e) as shown in fig 2, illustration 2.      

4. Attach two feet that were released to the headboard (A) by inserting Allen bolts (d) through the holes in the headboard base frame to the holes in the 

feet with the Allen Key (e) as shown in fig 3, illustration 3. 

5. Align the storages (A & B) to the headboard (C), insert the Allen bolts (a) through the holes in the inner side of the storages (A & B) posts to the 

holes in the posts of the headboard (C) as shown in fig 4, illustration 4a. Tighten with the Allen Key (c). (Do not over tighten) 

6. Insert the Allen Bolts (M6 x 50) that were released from the feet into the holes in the base frames the storages, tighten with the Allen Key (e) as 

shown in fig 4, illustration 4b. Note: The rest four Allen Bolts of both feet are not used,  please keep the Allen Bolts for future use.  

7. Align the storages (A & B) to the cutout of the headboard. Align the metal bracket (b) with the cutout at the center of the headboard base frame.  

Insert the Allen bolts (M6 x 20) through the holes in the metal bracket (b) to the holes underneath the storages (A & B) top. Tighten with the Allen 

Key (e) as shown in fig 5, illustration 5. Tighten all connections. 

8. Put the drawers back to their previous positions by vigorously pushing the drawer backs into place as shown in fig 5.  
 

                                                                              
Fig 1                                                                                                      Fig 2                                                                                                 Fig 3 

           .  
 

 
                                                                                                                                                                                                                      C 

                                                                 B                          
                                                   A 

    Illustration 1  

  
                                                                                                               Illustration 2                                                          Illustration 3 

                                                                                  
     Fig 4                                                                                                                                                           Fig 5  

 

 
                     C 

 

 

 

 

                                                                                                                                                                                                                                                 
                                                                            B                                                                                                                               
                                                               
                Illustration 4                            A                                                                                                                                                        Illustration 5 

        a & b 

 

      Illustration.1                     Illustration.2                      Illustration.3                   Illustration.4a                   Illustration 4b                 Illustration 5                      

  

 

 

 

                                                                                 

 

 

                                                                                  

Care Instruction: 

• Wipe with a clean, soft cloth.  
• Avoid all chemicals and harsh cleaners. 

 

Thank you for your purchase 
Stores | catalog | www.potterybarn.com 

Hardware Enclosed: 

• (6) Allen Bolts M8 x 50mm  (a) 

• (1)  ”L“ Metal Bracket (b) 

• (1) Allen Key M5 (c) 

• (2) Allen Bolts M6 x 90mm (d) 

• (1) Allen Key  M4 (e) 

 

Note: to be attached 

with the headboard. 

 

Note: Follow the 
stickers for assembling   

legs to the headboard. 

 


